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QP CODE 32308 

Third Semester B.Com/BBA/BTA Degree Examinations 
JANUARY/FEBRUARY 2024 

Tüne: 2 Hors) 

Instructions: 

NCC/NMC/NTC O080: PAPER II: INTROSPECTION AND ART OF 
COMMUNICATION (WORK BOOK) 

(CBCS NEP SCHEME) 

ENGLISH LANGUAGE 

4) Do not repeat the answers. 

(2022 - 23 Syllabus) 

1) The students should legibly write section number along with question numbers. 
2) The answers without section nunber and question numbers will not be valued. 

3) The question numbers should be legibly written within the margin onty. 

6) Answer to one mark questions should not exceed one sentence. 
S) In case of repetition, only the first answer will be considered for awarding marks. 

I- 3) 

I- 4) 

SECTION -I 

I- 1) Mr. Caesar was planning to meet the judge about 
a) a judgement b) a crime 

[UNIT 1: READING SKILLS] 

L. Read each sentence carefully and fill in the blanks vith the most appropriate answer 
from the options given: 

I- 2) Roger requests for halfa day's leave to 

camp? 

a) attend a wedding b) meet his family 
c) go to court 

Page No... 1 

c) a murder 

(Max. Marks: 60 

d) get a document from a clerk 

a) Weston himself b) Roger c) Lady Weston d) The cook 

reminded Lord Weston about Mr. Caesar's appointment with him. 

a) Benz b) Otto c) Holtz d) Donald 

d) rose trees 

10 × | = 10 

was the name of Dr. Kraus when he was working in the concentration 

Contd......2 
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I- 5) A Day of Atonement' is about 

I- 6) 

l- 7) 

1- 8) 

I- 9) 

I- 10) 

a) 

a) relatives and family b) redemption and forgiveness 
c) reunion of friends d) remembrance and forgetfulness 

was the first person to stab Caesar. 

a) Decius 

a) Artemidorus 

hosted the Banquet. 

tried to make Caesar read a letter of warning on Cacsar's way to the Capitol 

b) Casca 

Duncan b) Banquo c) Macbeth d) The withches 

b) Brutus 

SECTION - II 

c) Brutus 

was the unexpected guest that Macbeth saw at the banquet table. 
a) Macduff 

UNIT -2: LISTENING SKILLS] 

II -1) True liberation of Tibet according to Dalai Lama 

II -3) Highlights of Chaplin's speech 

b) Banquo's ghost c) Fleance d) Lady Macbeth's ghost 
was the extravagant gift that Marthe brought home to drink for Ilse's health. 

a) A luxurious car b) A bouquet c) A bottle of wine d) A ring 

II. Write short notes on any FIVE of the following in a paragraph each: 

II - 4) Chaplin's opinion about dictators 
II - 5) Gandhi's views on Ahimsa 

c) Portia 

II - 6) Gandhiji's ideas on hatred 

II - 2) The human created problems that Dalai Lama highlights in his speech 

d) Cinna 

II -7) The central idea of Swami Vivekananda's world famous speech 

SECTION - III 

Page No... 2 

d) Soothsayer 

II - 8) The beginning of Vivekananda's specch at the Parliament of Religions 

III. Answer any THREE questions from the following in a page each: 

[UNIT -3: BUSINESS CORRESPONDENCE] 

5 x3 = 15 

3 x 5 = 15 
III - 1) Imagine you are opening a new restaurant in B.H Road, Bhadravathi and you need to purchase 50 tables and 100 chairs. Draft a letter of enquiry to the Olympic Furnitures, 

Contd...... 3 
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Shivamogga asking about the price, model, quality, schedule of delivery, payment 
modes, ctc. 

ll - 2) Place an order for seasonal fruits from a wholesale shop for your retailer shop. Make 
sure you mention all the relevant details in your letter. 

III - 3) Write a letter to Sanvi Computers and Suppliers, Sagar complaining about the defective 
laptops received from them to your newly opened office. 

IlI -4) Write an application with CV to the Manager, Pragathi Co-operative Society, 
Shivamogga with reference to their advertisement in The Hindu for the post of an 
accountant. 

II -5) Your company manufactures 5G smartphones. Draft a sales letter to all the retail sales 
outlets across India and provide details such as quality, variety, cost, design and phone 
specifications. 

Page No... 3 

SECTION -IV 

[SHORT PLAYS AND UNIT -4 COMMERCIAL WRITING| 

IV. Answer the following questions in about two pages each: 

IV- 1) Sketch the character of Lord Weston in "Remember Caesar". 
OR 

Who is Dr. Krauss? How does he atone for his past deeds? 

IV- 2) a) Prepare a classified advertisement for a newly built house in Bengaluru which is to 
be given for rent. 05 Marks 

b) Designa brochure for Children 's Film Festival 2024 to be held in your town. 

sk k sk sk sk k k 

10 Marks 

05 Marks 
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Third Semester B.Com/B.B.A/BCA Degree Examinations 

Time: 1 hrs) 

JANUARY/FEBRUARY 2024 

Instructions to Students: 

SEC : NAC 9023 PAPER: FINANCIAL EDUCATION 

AND INVESTMENT AWARENESS 

(NEP CBCS Scheme) 

1) The students should legibly write section number along with question numbers. 
2) The answers without section number and question numbers will not be valued. 
3) The question numbers should be legibly written within the margin only. 

SECTION - I o7T -I 

I- 1) Four factors of production include 

I. Select the most appropriate answer from the options provided: One mark each: 

a) Land b) Labour c) Capital d) All of the above 

I- 2) External factors influencing business are called as: 

a) Macro Environment b) Micro Environment 

a) State Bank of India 

c) Indian Bank 

|- 3) Which of the following is the central bank of our country? 

Page Vo... 1 

c) Benefits 
datoesdrieo 

b) Reserve Bank of India 

(Max. Marks: 25 

d) None of the above 

I- 4) Plan of action of a company expressed in financial terms is 

5x1 = 05 

d) Problems 

Contd..... 
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a) Budget 

c) Balance Sheet 

a) Capital Market 

b) P&LA/c 

|- S) Markets that facilitate firms to raise required capital is called 

c) Transaction Market 

d) None of the above 

b) Online Market 

d) Import-Export Market 

SECTION- II Jon- II 

II. Answer any THWO questions from the following: FIVE marks each: 

II -1) Write a note on Debit Card and Credit Card. 

II - 2) Briefly explain Macro Economic factors that influence business. 

II-3) Briefly explain the types of bank accounts. 

II-4) Briefly explain the need of financial statement analysis. 

SECTION - II 2Jo7T - III 

III. Answer any ONE question from the following: TEN marks each 

III - 1) Briefly explain the need for banking. 

III - 2) What is Capital Market? Explain its significance. 

III -3) What are Mutual funds? Explain their features. 

Page No... 2 

2 x5= 10 

1 x 10 = 10 



(OEC 5160) (OE -3) PSYCHOLOGY AND MENTAL HEALTH (OPEN ELECTIVE) 
Time:2 Hours 

I-1. Health refers to a state of 

a) Physical 
b) 
c) 

I. Select the most appropriate answer from the options provided: 

b) 

c) 
d) 

a) Nutritious food 

a) 

I-2. Which are the good habits of healthy person? 

b) 

Third Semester B.AJB.Sc. Degree Examination, 
February/March, 2024 
(CBCS NEP SCHEME) 

b) 

Mental 

c) 

Social 

d) 

I-3. Positive self - concept is essential for 

b) 

All of the above 

Meditation 

C) 

Exercise 

d) None of the above 

d) 

a) Empathic Listening 

Mental Health 

All of the above 

Physical Health 
Social Health 

-4. Which one of the following is not the most important in communication skills? 

a) 2 

Inactive Listening 

PSYCHOLOGY 

Objective Listening 
Active Listening 

SECTION - I Sori-I 

I-5. How many stages are in horsemen of the apocalypse? 

4 

5 

QP CODE: 19216 

well-being of the individual. 

Max. Marks: 60 

(10x1=10) 



I-6. Examples of Social Stressors are 

a) 

II. 

b) 

II-1. 

c) 

II-2. 

d 

II-3. 

-7. Anxiety and depression are 

C) 

a) Physical health issues 

I-8. Developing a fear of entering unfamiliar situation is known as 

b) 
c) 
d) 

d) Sexual health isSues 

Financial problems 

a) Panic disorders 

Divorce 

b) 

Loss of the Loved one 

c) 

All of the above 

I-9. The special relationship between the 

d) 

a) 

Mental health issues 

b) 

Social health isSsues 

c) 

relationship. 

d) 

a) Client and therapist 

Compulsive disorders 
Agoraphobia 
Conversion disorders 

I-10. The efforts to control one's emotions is known as 

Victim and doctor 
Client and client 

Therapist and therapist db 

Task oriented stratergy 

and 

dbd 

Avoidance oriented stratergy da Yppd dos,ib 
Goal oriented stratergy 
Emotion oriented stratergies ptane sqad3 doBne 

SECTION - II Qoi- II 

What is Mental Health? 

Answer any FIVE of the following questions: 

Give any three ethical issues of mental health. 

2 

List out the four steps of non-violent communication. 

are known as the therapeutic 

QP CODE: 19216 

(5x3=15) 



I|-4. 

I|-5. 

||-6. 

I|-7. 

II-8. 

III. 

What is Cognitive distortions? 

List out any five symptoms of stress. 

What is Burnout? 

What is the importance of Bronfenbrenner model? 

What is the role of self care in mental health? 

Answer any THREE questions from the following: 

III-1. Discuss the fundamental concepts of mental health. 

SECTION - II 9yori - III 

II-2. Briefly explain the four horsemen of apocalypse. 

III-3. Discuss the effects of worry and fear on mental health. 

III-4. Explain the causes of stress. 

IV. Answer the following: 

I-5. Briefly explain any two coping mechanisms in mental health issues. 

OR / 

IV-1. a) Explain the factors affecting mental health. 

SECTION - IV Qori-IV 

b) Explain any five cognitive distortions with examples. 

OR /o 

IV-2. a) Explain Grief and Trauma. 

QP CODE: 19216 

b) Explain the strategies to enchance mental health. 

(3x5=15) 

(1x10=10) 

(1x10=10) 



Time :2 Hours 

Instructions to students : 

I. 

a) 

1. The students should legibly write section number along with question numbers. 
2. The answers without section number and question numbers will not be valued. 
3. The question numbers should be legibly written within the margin only. 

I-1. Unmarked applications are: 

c) 

Select the most appropriate answer from the options provided. 
One mark each. 

Third Semester B.Com. Degree Examination, 
February/March, 2024 
(CBCS - NEP SCHEME) 

c) 

b) Which are received by the company directly from the public 

d) None of the above 

a 

a) Capital Reserve 

c) 

(NCC 0210) CORPORATE ACCoUNTING -I 

1-2. Pre-incorporation loss is transferred to 

1-3. Goodwill is a 

b) 
C) 

Which have official stamp of each underwriter 

Both (a) and (b) 

a) 
C) 

Revenue Profit 

a) 

Fictitious Asset 

Liquid Asset 

COMMERCE 

d) None of the above 

SECTION -I 

a & b both 

|-4. Under the Net Assets value method, it is assumed that 
a The company would continue to exist 

Schedule l 
Schedule l| 

b) 

1:3 

d) 

b) 

b) 1:2 

d) 

The company would wound up or liquidated 

Goodwill 

1-5. According to which schedule of the Indian Companies Act 2013, Indian companies 
have to prepare balance sheet. 

Revenue Reserve 

b) 

Current Asset 

d) 

Intangible Asset 

1 

QP CODE: 32321 

Schedule Il 

Max. Marks : 60 

Schedule IV 

1-6. A company was incorporated on 1.8.2023 and acquired a business with effect from 
1.4.2023. Total sales from 1.4.2023 upto 31.03.2024 was Rs. 6,00,000. What is 
sales ratio? 

c) 1:4 

(10x1=10) 

d) 1:1 



QP CODE: 32321 
-7. A Company issued 20.000 shares of Rs. 10 each. These shares are underwritten 

by Mr. X 14,000 shares, Mr. B 6,000 shares. The public subscription for 16,000 
shares which includes marked applications of Mr. X 10,000 shares, Mr. Y 4,000 

shares. Find out unmarked applications. 
a 3000 

I-8. If Company's average profit of Rs. 25,000, transferred to General Reserve is Rs. 
5,000, preference dividend payable to preference shareholders is Rs. 8,000. What 
is profit available for dividend to equity shareholders. 

II-2. 

II-3. 

a) 13,000 

-9. A company's Revenue from operations is Rs. 1,00,000, other income is Rs. 10,000 
and employee benefit expenses is Rs. 30,000. What is Net Profit? 
a) 90,000 b) 1,40,000 

I-10. If Average Capital employed is Rs. 1,90,000 and adjusted average profit is 
Rs. 80,000 and normal profits is Rs. 19,000. What is super profit? 
a) 61,000 b) 99,000 

I|-4. 

b) 2400 

II-5. 

||-6. 

II-7. 

b) 17,000 

c) 1800 

What are Super Profits? 

c) 20,000 

II. Answer any FIVE of the following questions. THREE Marks each: 
I|-1. What is Underwriting Commission? 

c) 80,000 

d) 2000 

c) 2,70,000 

SECTION - II 

d) 12,000 

d) 70,000 

d) 2,09,000 

What are the expenses apportioned to Time Ratio and Sales Ratio? 

2 

From the following particulars culate Gross Profit. Opening stock Rs. 65,000, 
wages Rs. 30,000, purchases Rs. 2,10,000, sales Rs. 6,00,000 and closing stock 

Rs. 80,000. 

(5x3=15) 

'A' Co., was incorporated on 30h September 2022, to take over the business 
from 1st April 2022. The financial accounts of the business for the year ended 
31st March 2023. The number of clerks were 12 before incorporation later increased 
to 15 after incorporation. The amount of salary also increased from Rs. 200 p.m. 
to 300 p.m. per clerk. 
Calculate total amount of salary prior and after incorporation. 

Akshara Ltd. Company issued 1,00,000 shares of Rs. 10 each. These shares were 
underwritten as follows: 

X -30,000 shares and Y 50,000 shares and Mr. Z -20,000 shares. The public 
applied to 70,000 shares. If marked applications X -21,000 & Y -25,000 and 
Z-14,000 shares. Determine the liability of X, Y and Z. 

'S' company decided to purchase a business. Its profits for last 3 years were : 2020 
21 Rs. 30,000, 2021-22 Rs. 40,000 and 2022-23 Rs. 50,000. It was found that the 
profit for the year 2020-21 included a abnormal profit of Rs. 5,000 and profits for the 
vear 2022-23 included abnormal loss of Rs. 10,000. The goodwill is estimated at 3 
years purchase of averag� profits. Calculate Goodwill under Average Profit Method. 



||-8. 

III. 

Under which heading & sub-heading the following items appear in the balance 
sheet of a company as per the Companies Act, 2013. 
1. Capital Reserve 
3. Mortgage Loan 

5. Patent Rights 

Answer any THREE of the following questions. FIVE Marks each: (3x5=15) 
II-1. Explain the different methods of Valuation of Goodwill. 

II-2. What are the features of schedule Ill of the Companies Act 2013. 
III-3. From the folowing information, calculate the value of goodwill under super profits method. 

2. Stock - in - trade 

1. Net profit of the firm for the past 3 years were : Rs. 15,000, 25,000 and 35,000 
2. Average capital employed is Rs. 2,00,000. 

4. Provision for Taxation 

6. Pre-paid Expenses 

3. Normal rate of return on average capital employed is 10%. 

SECTION - II 

Liabilities 

4. Value of goodwill on the basis of 2 years purchase of super profit. 

10,000 Equity shares 

III-4. Popular company issued 1,00,000 shares. These shares were underwritten as follows: 

of Rs. 10 each 

A - 50,000, B - 20,000, C - 30,000. In addition there is firm underwriting A - 8,000, 
B -3,000, C - 10,000 shares. The total subscription including the firm underwriting 
was 70,000 shares and the firm included the folowing marked applications: 
A - 15,000, B - 10,000, C - 10,000. Determine the Liability of underwriter. 

III-5. The following is the balance sheet of Q' Company Ltd. as on 31st March, 2024. 

Profit & Loss A/c. 
General Reserve 

Creditors 

Bank Loan 

Amount (Rs.) 

1,00,000 
10,000 
15,000 

30,000 

2,05,000 

Cash in hand 

QP CODE: 32321 

Assets 

Cash at Bank 

50,000 Stock 

Land and Building 
Plant and Machinery 

Debtors 
Goodwill 

Preliminary Expenses 

SECTION -IV 

Find out the Intrinsic Value of each share under Net Asset Method. 

IV. Answer the following questions. TEN Marks each: 

IV-1. a) Define Underwriting. Explain the types of Underwriting. 

3 

Amount (Rs.) 

5,000 
10,000 
80,000 
50,000 
15,000 
20,000 
12,000 
13,000 

2,05,000 

(2x10=20) 



b) Explain Marked and Unmarked applications. 

b) 

From the following trial balance of 'R' Limited. Prepare balance sheet of the 
Company as on 31st March 2024. 

Cash at Bank 
Non-current assets 

Non-current investments 

Land & Building 
Furniture 

Debit 

Office equipment 
Goodwill 

Stock 
Trade receivables 

Total 

To Rent, rates & taxes 
To Directors fees 
To Salaries 
To Office expenses 

To 
To Travellers commission 

Discounts 
To Bad debts 
To Audit fees 

To Depreciation 

OR 

To Debenture Interest 
To Interest to vendor 

Rs. 

(upto 30.09.2023) 

1,50,000 
1,00,000 

To Net profit 

50,000 
4,00,000 
1,00,000 

50,000 
1,00,000 
2,00,000 
1,00,000 

IV-2. a) Explain the various methods of valuation of shares and mention various 
circumstances necessitating valuation of shares. 

OR 

12,50,000 Total 

Hindustan Ltd. was incorporated on 1st August 2023 to takeover a business 
from 'X Ltd. on 1st April, 2023. The P & L A/c. for the year ending on 
31st March, 2024. 

Statement of Profit and Loss for the year ended 31t March 2024 
Particulars Rs. 

The Hindustan Ltd. 

23,000 
20,000 
51,000 
48,000 
12,000 
15,000 
3,000 
8,500 
6,000 
4,500 

Credit 

Equity share capital 
Preference capital 
Reserves & Surplus 
Non-current liabilities 
Current liabilities 

Staf provident fund 

6,000 

2,03,000 

Deposits from public 

4,00,000 

QP CODE: 32321 

Particulars 

By Gross profit 

Rs. 

2,50,000 
2,50,000 

50,000 

Ascertain the profit earned prior to and post incorporation period. 

4,00,000 
1,00,000 
1,00,000 
1,00,000 

12,50,000 

Rs. 

4,00,000 

4,00,000 

The total sales for the year ending 31.03.2024 was Rs. 10,00,000 divided into 
Rs. 3,00,000 for the period upto 1.8.2023 and Rs. 7,00,000 for the remaining 
period. 



Time :2 Hours 

Instructions to students: 

I. 

a) 
c) 

Third Semester B.Com. Degree Examination, 
February/March, 2024 

1. The students should legibly write section number along with question numbers. 
2. The answers without section number and question numbers will not be valued. 
3. The question numbers should be legibly written within the margin only. 

Choose the appropriate answer for the following questions: 
One mark each. 

I-1. The technique and process of ascertaining cost is known as 

a 

c) 

known as 

Costing 
Cost Centre 

(NCC 0230) COST ACCOUNTING 

Overheads 

c) 

Factory Overheads 

(CBCS NEP SCHEME) 
COMMERCE 

-2. The aggregate of Direct Material Cost, Direct Labour Cost and Direct Expenses is 

a) The earliest prices 

a) 

SECTION - I 

At average prices 

Time allowed 8 hours 

Time taken 6 hours 

b) 

Re-order Period is 6 weeks, Re-order Level is 

Rs. 48 

d) 

-3. If maximum Consumption of a product is 12,000 units per week and Maximum 

b) 

d) 

a) 70,000 units b) 72,000 units c) 20,000 units d) 50,000 units 

b) Prime Cost 

I-4. The valuation of Closing Stock according to LIFO method of pricing is done at: 

Financial Accounting 
Cost Unit 

Rs. 42 

b) 

Total Cost 

d) 

1-6. The method of wage payment on the basis of Halsey Plan: 
Time Rate per hour Rs. 6 

QP CODE: 32323 

I-5. If annual usage of a product is 90,000 units, buying cost per order is Rs. 10 and 
Cost of Storage is Rs. 5 per unit per annum, the EOQ will be: 

a) 700 units 

1 

Max. Marks: 60 

The latest prices 
None of the above 

b) 1200 units c) 600 units d) 900 units 

(10x1=10) 

c) Rs. 40 d) Rs. 44 



-7. A worker has a time rate of Rs. 150/- per hour, he makes 720 units tor 8 Hours. 
His wages as per time rate method is: 
a) 9000 

1-8. If expenses of Rent is Rs. 15.000/- and it is charged to Department A and B in the 
ratio of 3:2 the rent charged to each department will be: 

1-9. Idle time is: 

II. 

II-1. 

II-2. 

II-3. 

1-10. 1) 

I|-4. 

a) 

IJ-5. 

I|-6. 

a) 
b) 
c) 
d) 

2) 
3) 

9000: 6000 b) 6000: 9000 

Time spent by the worker in factory 
Time spent by the worker in office 

b) 8000 

None of the above 
Time spent by the worker in their work 

Material consumed Rs. 48,000 
Direct wages Rs. 6,000 
Chargeable expenses Rs. 2,000 

What is Prime Cost? 
a) 56,000 b) 52,000 

Direct Wages 
Raw Materials Consumed 

Machine hours worked 
Machine hour rate 

c) 4000 

SECTION -II 
Answer any FIVE of the following questions. THREE Marks each: 

Briefly explain the objectives of Costing. 

From the following information prepare Cost Sheet. 

Write a note on ABC System of Inventory Control. 
What is Time keeping? State th 
A company manufacturers 5,000 Units of a product per month. Cost of placing an 

order is Rs. 100. The purchase price of material is Rs. 10 per kg. The average 
consumption being 275 kg per week. The carrying cost of inventory is 20% per 
annum. Calculate EOQ. 

c) 10000 : 5000 d) 7500: 7500 

c) 50,000 

Selling Overheads Rs. 2.00 per unit 
Units produced and sold 6000 

Office overheads @ 25% on Works Cost 

different time keeping methods. 

C. Piece work rate is 25 paise per unit 

QP CODE: 32323 

1,10,000 

2 

d) 1200 

60,000 
10,000 
Rs. 1.25 

d) 40,000 

Calculate Total Monthly remuneration of Three workers A, B & C from the folowing data: 
a. Standard Production during the month : 4000 units 

e. Fixed dearness allowance Rs. 150 per month. 

(5x3=15) 

b. Actual Production: A - 3,400 Units ; B - 3,000 Units ; C - 3,800 Units 

d. Additional Production bonus is Rs. 10 for each percentage of actual production 
exceeding 80% of standard production. 



||-7. 

I|-8. 

State the basis of apportionment for the folowing expenses: 
a. Rent 

e. Insurance f. Depreciation 
Given Factory Overhead = Rs. 15,000 

b. Salary 

Prime Cost = Rs. 60,000. Determine overhead rate as percentage on prime cost. 

Date 

2.3.2022 

III. Answer any THREE of the following guestions. FIVE Marks each: (3x5=15) 

I1-1. Differentiate between Cost Accounting and Financial AcCounting. 

10.3.2022 

IIl-2. Brietly explain the reasons disagreements in profit or loss between Cost and 

Financial Accounts. 

15.3.2022 

Ill-3. The following transactions takes place with respect to Material A : Prepare Stores 

Ledger under FIFO method 

18.3.2022 

30.3.2022 

c. Lighting 

200 

SECTION II 

Receipt (quantity) 

300 

250 

Standard time fixed for a job : 60 hours 
Standard wage rate per hour : Rs. 15 
Time taken by Mr. Akash is 50 hours 

Cost of the Machine (Rs.) 

Installation Charges (Rs.) 
Anticipated life of machine 

Scrap value at end of 10 years (Rs.) 

Rent and rates per annum (Rs.) 

Insurance of the machine p.a. (Rs.) 

Rate 

Repairs and maintenance p.a. (Rs.) 

Consumable stores p.a. (Rs.) 

2 

2.4 

II|-4. Calculate total wages of Mr. Akash under Halsey and Rowan Plan: 

3 

2.6 

III-5. From the following particulars compute Machine Hour Rate: 

1,14,800 

5,400 

10 yearS 
5000 

QP CODE: 32323 

d. repairs 

12,000 

3,000 

8,640 

1200 

1080 

Issue (Quantity) 

250 

200 

Total production service p.a. (Rs.) 

Power cost is 5 units per working hour @ 40 paise per unit 

There are 300 working days of eight hours each in a year 



IV. Answer any TWO of the following questions. TEN Marks each: 

IV-1. Briefly explain the purchase procedure of Material. 

Materials Rs. 20,000 
Wages Rs. 30,000 
Works Overhead Rs. 15,000 

The production data for the manufacture of a product in 2021 was as follows: 

Office Overheads Rs. 6,500 

Sales Rs. 96,000 

The producer wants 10% profit on sales. 

The output was 10,000 Units during the year. The company wants to estimate price 
for 500 units in 2022. Materials Cost is expected to rise by 10% and labour cost 
by 20%. 

Prepare a cost sheet and estimation for 2022. 

Production Departments 
A 

B 

IV-2.A Company has three Production Departments and two Service Departments. The 
distribution summary is as follows: 

Service Departments: 
X 

Y 

as follows: 

Particulars 

SECTION - D 

S1 (%) (X) 
S2 (%) (Y) 

A 

40 

30 

Rs. 13,600 
Rs. 14,700 

The expenses of Service Departments are charged on a percentage basis which is 

Rs. 12,800 

OR 

Rs. 9,000 

Rs. 3,000 

B 

30 

30 

20 

20 

QP CODE: 32323 

OR 

X 

(2x10=20) 

20 

4 

Y 

10 

Apportion the cost of Service Department by using the Repeated Distribution Method. 

What is Labour turnover ? Explain the reason and effects of Labour turnover. 



Time :2 Hours 

Instructions to students 

One mark each. 

a) 

1. The students should legibly write section number along with question numbers. 
2. The answers without section number and question numbers will not be valued. 
3. The question numbers should be legibly written within the margin only. 

C) 

Third Semester B.Com. Degree Examination, 
February/March, 2024 

I. Write the most appropriate answer from the options provided. 

a) 

frequency for the next class will be 

C) 

-1. The cumulative frequency for a particular class is equal to 30. The cumulative 

Equal to 35 

a 

c) 

(CBCS - NEP SCHEME) 

(NCC 0220) BUSINESS STATISTICS 

1-2. The measure of dispersion can never be 

a) 0 (zero) 

Positive 

Zero 

COMMERCE 

c) 

30 minus the next class frequency d) 

SECTION -I 

a) 10 

Histogram 
Frequency polygon 

b) Q1 

Mode 

b) 

13. In a symmetrical distribution, the coefficient of skewness will be: 

b) 
d) 

-t.. 

-4. The mode of a frequency distribution can be determined graphically by: 
b) 

Less than 30 

Negative 
Equal to 2 

b) 

Frequency curve 
d) Ogive 

I-6. The co-eficient of correlation between X and Y is 0.48. 

The Cov (X, Y) is 36, the S.D. (X). Find the S.D. (Y). 
a) 17 b) 18.75 c) 17.75 

I-7. ldentify the mathematical average from the following: 
a) Arithmetic Mean 

d) 

QP CODE: 32322 

30 plus the next class frequency 

c) Q3 

I-5. Find mean, the profit earned by a company for 6 years are 10, 20, 30, -30, -10, 40. 
b 20 

1 

c) 30 

Max. Marks : 60 

Median 

d) 1 

All of the above 

(10x1=10) 

d) -10 

d) 18.25 



1-8. If the two regression co-efficients are bxy = -0.4, bxy = -0.9, then the value of 

II. 

I-9. The most suitable average for qualitative measurement iS 

II-2. 

correlation co-efficient (r) is 
a) 0.6 

I|-4. 

II-5. 

a) 

II-6. 

c) 

a) 

Arithmetic mean 
Mode 

is true? 
-10. For a distribution of data, if the mean> median > mode, then which of the following 

c) 

The distribution is symmetrical 
b) The distribution is positively skewed 

d) None of these 

II-1. Discuss the functions of Statistics. 

b) 0.65 

The distribution is negatively skewed 

II-3. What is positive and negative skewness? 

Marks 

Answer any FIVE of the following questions. THREE Marks each: 

What are the different kinds of classification? 

Find out Mode frpm the followi y data. 

No. of students: 

Mean 

Variance (S.D.) 

In a frequency distribution, the lower quartile is 35 and median is 40. If the 
distribution is symmetric, find the upper quartile. 

18 40 

Obtain X on Y regression equation from the following: 

45 

50 43 10 0 

48 

19 22 20 15 

50 15 

10 

22 

b) 

SECTION -II 

3 

d) 

30 

0-10 10-20 20-30 30-40 40-50 50-60 60-70 

29 

Correlation between X and Y is 0.75 

X 

c) -0.6 

13 

11 

20 

4 

30 

Median 

Geometric mean 

II-7. Construct a grouped frequency distribution under exclusive method from the data 
given below with the class magnitude of 10. 

Y 

25 

11 

14 40 33 29 30 

11 

10 16 38 

33 17 46 44 

2 

QP CODE: 32322 

5 

d) -0.65 

10 

35 

40 

50 

21 

18 

50 

(5x3=15) 

14 

9 

10 

1 

49 0 27 

4 44 33 



I|-8. Compute Inter Quartile Range from the following data. 

X: 10 

III-2. Explain the scope of Statistics. 

following data. 

IV-1. a) 

b) 

X: 28 

75 

III. Answer any THREE of the following questions. FIVE Marks each: (3x5=15) 

III-1. Distinguish between Primary data and Secondary data. 

21 

II-3. Compute the Karl Pearson's co-efficient of co-relation between X and Y from the 

Mid value: 

Frequency: 

25 

18 

10 

20 

10 

SECTION - III 

35 

20 

II-4. From the following distribution, compute the third quartile. 

of wife 25 years. 

50 25 100 125 

[X] Age of Husband: 

20 

[M Age of Wife: 

20 

30 

28 

30 

30 

25 

20 

29 

29 

SECTION - IV 

IV. Answer the following questions. TEN Marks each : 

OR 

40 

50 

What is Correlation? Explain the types of Correlation. 

28 30 

26 29 

3 

22 

II-5. Out of a total number of 1807 women who were interviewed for an employment 

27 

in a textile factory of Karnataka, 512 were from textile areas and the rest from 
the non-textile areas. Amongst, the married women who belonged to textile 
areas, 247 were experienced and 73 inexperienced, while for non-textile areas, 
the corresponding figures were 49 and 520. The total number of inexperienced 
Women was 1341 of whom 111 resided in textile areas. Of the total number of 

women, 918 were unmarried and of these the number of experienced women in 
the textile and non-textile areas were 154 and 16 respectively. Tabulate. 

50 

30 

32 

30 

40 

The following data related to the age of husband and wife. Obtain the 2 

regression equations and estimate the most likely age of husband for the age 

35 

30 

25 

25 

QP CODE: 32322 

60 

18 

80 130 150 

10 

70 

05 

38 

26 

(2x10=20) 

39 42 45 

35 35 46 



IV-2. a) Compute Mean and Median from the following distribution of marks in NET 
examination. 

Marks 95-99 100-104 |105-109 110-114 115-119 120-124| 125-129 130-134 

No. of students: 50 150 120 

OR 

80 180 

QP CODE: 32322 

70 

b) What is Tabulation ? Explain the different parts of a table. 

100 50 
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